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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(ii)
(iii)
(iv)

(v)
(vi)
(vit)
(viii)

(ix)

617/3/2

This question paper contains 34 questions. All questions are compulsory.

This question paper is divided into two parts — Part A and Part B.

Part A is compulsory for all candidates.

Part B has two options i.e. (1) Analysis of Financial Statements, and
(2) Computerised Accounting. Candidates must attempt only one of the given

options as per the subject opted in Part B.

Questions no. 1 to 16 and 27 to 30 carry 1 mark each.

Questions no. 17 to 20, 31 and 32 carry 3 marks each.

Questions no. 21, 22 and 33 carry 4 marks each.

Questions no. 23 to 26 and 34 carry 6 marks each.

There is no overall choice. However, an internal choice has been provided in
7 questions of one mark, 2 questions of three marks, 1 question of four marks

and 2 questions of six marks.

(1)

(ii)

PART A

(Accounting for Partnership Firms and Companies)

A share of T 10 issued at a premium of ¥ 2 per share on which ¥ 8
per share (including premium) have been called and ¥ 6 per share
(including premium) is received, is forfeited. Share Capital
Account will be debited by :

(a) T 10 (b) T8
(c) T 12 d <6

OR

A share of T 100 on which ¥ 70 has been received is forfeited for
non-payment of final call of ¥ 30. The minimum price at which
this share can be re-issued is :

(@) T 70 (b) ¥ 30
(c0 ¥ 100 (d T 130

-~~~ Page 3 P.T.O.
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S7fYFHYT (A) : FTEICR o R W SIS <hl Wl ATY-BI @Td o 98 9&] | <hl
STt B |

FRU(R):  GIEER o I W S A1Y & fobg TR B |

ITYTH AR (A) AT HRU (R) o MR | Ffafad & ¥ @&l foshed 1
W@ﬁm :

(a)  3IMHYT (A) TE 8 AT R0 (R) Ted 2 |

(b) AT (A) TAd @ TAT SR (R) F&l 7 |

(c)  QHI AR (A) T R (R) T 3§ |

(d) gFl AR (A) 99T SR (R) Toid & |

9T, T JAT TMieIG HBIGR & qAT 5 : 4 : 3 o UM § AH-FIH dled & |
1 379, 2022 I FM TGS & T4 | TGTA qAT Mo 5 38 T 1,20,000 H1
YA ik T H I8 HFT 1 33 L Tt | T 80,000 T YA 9T
T 40,000 T JTaH TMag = foham | Aty 3 uma gom

(a) 5:3 (b) 4:3

(c) 1:1 d 2:1

1)  h3E AT BT Teh BH H HEeR I qAT ATl ohl (IS STeR-seR
H W@ U | B % IFEd A B GShd Jed T 18,00,000 AT | BH H
gfmafaat (@fd st Sge) T 20,00,000 9T FATE T 5,00,000 of |
3TTd AT < SRt ot grn e <l @l 1 Jod g

(a) ¥ 2,00,000 (b) ¥ 3,00,000
(c) < 4,00,000 (d ¥ 3,50,000
AASAT

(i) o U1 @ Th BH § HEIGR o AT 3 : 2 I H ATH-IH Sied o |
1 373, 2021 W 3Tk ISl @ral § AWM T 1,50,000 TAT T 2,00,000
% Y I | AR Hoi@ H ARl S gefl W 10% i @ A H
TEHH o1 | 31 HTE, 2022 W GHH Y 99 H BH i T 10,000 h FTH
T | % I | B
(a) ¥ 15,000 (b) T 9,000
) I (d T 6,000
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2. Assertion (A) : Interest on partners’ loan is debited to Profit and Loss
Account.

Reason (R): Interest on partners’ loan is a charge against profits.

On the basis of the above Assertion (A) and Reason (R), choose the correct
option from the following : 1

(a)  Assertion (A) is correct and Reason (R) is wrong.
(b)  Assertion (A) is wrong and Reason (R) is correct.
(c) Both Assertion (A) and Reason (R) are correct.
(d)  Both Assertion (A) and Reason (R) are wrong.

3. Gopal, Krishna and Govind are partners sharing profits and losses in the
ratio of 5 : 4 : 3. Krishna retired on 15t April, 2022. Gopal and Govind
purchased her share of profit by giving her ¥ 1,20,000, ¥ 80,000 being

paid by Gopal and ¥ 40,000 by Govind. The gaining ratio will be : 1
(a) 5:3 (b) 4:3
(c) 1:1 d 2:1

4, (1) Keshav and Karan were partners in a firm sharing profits equally.

The capitalised value of average profits of the firm was
< 18,00,000. Assets of the firm were < 20,00,000 (excluding
goodwill) and Liabilities were ¥ 5,00,000. The value of goodwill of

the firm by capitalisation of average profits method will be : 1
(a) ¥ 2,00,000 (b) ¥ 3,00,000
(c) T 4,00,000 d) < 3,50,000

OR

(ii) A and B were partners in a firm sharing profits and losses in
the ratio of 3:2. On 15t April, 2021 the balances in their capital
accounts were ¥ 1,560,000 and ¥ 2,00,000 respectively. The
partnership deed provided that interest on partners capital will be
allowed @ 10% per annum. During the year ended 315t March,
2022, the firm incurred a loss of ¥ 10,000. Interest on A’s capital

will be : 1
(a) < 15,000 (b) < 9,000
(c) Nil (d) T 6,000

617/3/2 ~ o~~~ Page 5 P.T.O.



5 @) HIEIE/ o T el Ia9/™ bl I bl YR 3 |
(a) & (b) 3™
(c) wUA (d) TeprEar

HAYAT

(i)  Toem™ @Eer & st" AW fo9SE oTa| H IRadd o 99 |IeiGRT %
ISt @l § GeRi’ i Fefafaa omuTa § gearana foham ST |

(a)  IW AU

(b)  AfUATH AU

(c)  YUAT AT fowTSH 31U
d) 1 Y fouSH U

6. () GIEm fAfdEs 3 T 100 ¥+ & 20,000, 11% RO 1 HHA
10% Hftem @ foman, e siem 5% Hiftem @ foren Smn 2 1 Sromst
o g g @’ o 9™ 981 § @dil s e
(a) ¥ 3,00,000
(b) T 2,00,000
(¢) ¥ 1,00,000
d) T 22,00,000

AAAT

(i) RE fafes 3 T fafiees @ T 8,00,000 6 ufErala= &1 w3
ol T 2,00,000 I FATE A | PTAH T 100 TAP h 8% FRIIAT ohl
20% Ateea R e e fpen srem | feifia fpe M amer o

i Te grft
(a) 50,000
(b) 5,000

() 6,000
(d) 6,00,000
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(1)

(i1)

(1)

(i)

is the basis of relationship between the partners to run the

partnership business. 1
(a)  Offer (b)  Agreement
(c) Understanding (d)  Acceptance

OR

At the time of change in profit sharing ratio among existing
partners, ‘Reserves’ are transferred to Partners’ Capital Accounts
in the following ratio : 1

(a)  Sacrificing ratio

(b)  Gaining ratio

(c) Old profit sharing ratio
(d)  New profit sharing ratio

Sunbeam Ltd. issued 20,000, 11% debentures of ¥ 100 each at a
premium of 10%, redeemable at a premium of 5%. The ‘Loss on
Issue of Debentures Account’ will debited by : 1

(a) ¥ 3,00,000
(b) T 2,00,000
¢ ¥ 1,00,000
d T 22,00,000

OR

Nargis Ltd. purchased assets of ¥ 8,00,000 and took over liabilities
of ¥ 2,00,000 from Gauri Ltd. The payment was made by issue of
8% Debentures of ¥ 100 each at a premium of 20%. Number of

debentures issued will be : 1
(a) 50,000

(b) 5,000

(¢) 6,000

(d  6,00,000

~SN~~ Page 7 P.T.O.



7. (1) HED U1 W Th BH § TR o | BH & [q6ed & 99T HES g0 BH
&1 Team T /O T 30,000 o, Y gy =T W k9T T 15,000 o qA
sfafa Tefier gro fgam = =1 = 10,000 o | FEYeW YTaE fham S@m @ g
(a)  TTST o SROT AT

(b)  TEh b KT HI
(c) afa wfiwr & =0 &1

(d) & o HUT AT T % KU1 H IThI KU TR & ALAd H
AYAT

(ii) Wawﬁmwwﬁﬁa@mﬁam5:3%ag¢mﬁwm€rﬁw
forsTrom e & | aeh = B % e L . Wﬁ%ﬁdg@hmws\w{%
w0 # A R | et ¥ o wm o S mgrﬁ:ﬁugw%ml
ﬁmﬁ%ﬁﬁﬁmﬁmmmﬁwm 1

1 3
(a) _O (b) 2—0

—

3
8
8. T« faIes 9 T 100 I¥% & 4,000, 6% R 1 HHA T 95 Ifd Fora"
R TRAT | 6% U9 @A & JHT 9T H QT <l SATaft - 1

(a) ¥ 3,80,000
(b) T 4,40,000
(¢) ¥ 4,00,000

(c) (d)

S\

(d ¥ 20,000

9.  ToshH AT AT T BH H AIEIGR o AT 2 : 1k A H ATH-FIH I fawTeH
Hd ¥ | B THESH o qvEq fosed dum g sl St A T 50,000 AT
¥ 40,000 ot | T S A A S % e v A wER % w9
TowT T | StEa ®H | ATl Goit AT | S gRT TS TS goft o T off ¢ 7
@) T 45,000 ®)  F 30,000
(c) < 60,500 (d) < 90,000
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7. (1) Mehak and Ravish were partners in a firm. On dissolution of the
firm, the loan given by Mehak to the firm was ¥ 30,000, by Ravish
was ¥ 15,000, and by Mrs. Ravish was ¥ 10,000. The first

payment will be made for : 1
(a) Ravish’s loan
(b)  Mehak’s loan
(c) Mrs. Ravish’s loan

(d) Mehak’s loan and Ravish’s loan in the ratio of their loan
amount

OR

(ii1)  Surbhi and Leena were partners in a firm sharing profits and
losses in the ratio of 5 : 3. Ashi was admitted as a new partner for

i share in the profits of the firm. Ashi acquired % of her share

from Surbhi. From the following, how much share did Ashi acquire

from Leena : 1
1 3
il b 2
(a) 10 (b) 20
2 3
ol d hd
(c) 5 (d) 3
8. Sunbeam Limited issued 4,000, 6% Debentures of ¥ 100 each at ¥ 95 per
debenture. 6% Debentures account will be credited by : 1

(a) ¥ 3,80,000
(b) T 4,40,000
(¢ T 4,00,000
d T 20,000

9. Vikram and Sumit were partners in a firm sharing profits and losses in
the ratio of 2 : 1. The capitals of Vikram and Sumit after all adjustments
were ¥ 50,000 and ¥ 40,000 respectively. They admitted Jayant as a
partner for % share in the profits of the firm. Jayant brought

proportionate capital in the firm. The amount of capital brought in by

Jayant was : 1
(a) T 45,000 (b) < 30,000
(c) T 60,500 (d) < 90,000

617/3/2 ~ o~~~ Page 9 P.T.O.



1T @icqlde el ®1 96T 797 399 &1 T3 a7 & TR W 97 G&I7 10 797
11 % 3 df97 -

10.

11.

12.

13.

3T, 9% AT oo ATEER & 991 2 : 1 : 2 STIUTA B ATH-FIH 1 fA9TeH Hid
g | TR goit HAM: T 5,00,000, T 3,00,000 qAT T 2,00,000 ff | A
AT 9 O I8 TR @ T foreft oft o o feem & oy o1 wmr oot Ergiewi
B 5% T a9 H @ A Yot W AN ¢ o 91§ T 75,000 § HH T8 0T |
31 AT, 2022 %! HHTH §T 99 1 A9 T 2,00,000 T |

TR T TN BT THRNSH 5 U9 AEighl & s I i S areft
JAfem Ty <h Ui @Tﬁ :

(a) 314 T 50,000; T T 25,000; f=am = 75,000

(b) 313 T 55,000; T T 30,000; TE=AT T 65,000

(c) 31 T 57,000; I T 28,000; TG=AT T 65,000

(d) 31 T 45,000; I T 30,000; =T T 75,000

e <61 e A ufyr fFefafea v o =0 2
(a) T 75,000 ®b) T 5,000
(¢ ¥ 15,000 d) T 20,000

U ®H i 3itEa fafRifsa 95 = 1,60,000 3 | SR YR @ 15% @ a9l

TH HGd 9 T 60,000 & | 3ad i & Yefier fafer gro @nfa =1 oo 2
(a) < 16,40,000 (b) < 4,00,000
(c) < 2,40,000 (d) < 14,40,000

e e 3 T 10 I & 100 3700 1 801 o o o9 = 8 ufa 3w
A e g 91 N W T 5 ufd A9 (T 2 9fd 3w fiftem afga) & stee ufs
T YT T80 fhaT T AT | 39 3 H | 70 =M Bl T 10 Yfq 7AW, T 8
IqTferd sl g ° AWM bl A Tifha e foam M | g WSy 'O @r’ |
T Sl ST

(a) SHIURAH T 7009

(b) AWMU H T 500

(¢c) SHIUAH T 5009

(d THUAH T 200

67/3/2 ~~~~ Page 10
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Read the following hypothetical situation and answer questions number

10 and 11 on the basis of information given :
Anu, Charu and Divya are partners sharing profits and losses in the ratio
of 2 : 1 : 2. Their capitals were T 5,00,000, T 3,00,000 and ¥ 2,00,000
respectively. Anu personally guaranteed that in any year, Divya’s share
of profit after allowing interest on capital to all partners @ 5% p.a.
would not be less than ¥ 75,000. The profit for the year ending
315t March, 2022 amounted to ¥ 2,00,000.

10. The final amount of profit distributed among the partners after
adjustment of guaranteed amount will be : 1

(a) Anu T 50,000; Charu ¥ 25,000; Divya ¥ 75,000
(b)  Anu T 55,000; Charu ¥ 30,000; Divya ¥ 65,000
(c) Anu T 57,000; Charu ¥ 28,000; Divya ¥ 65,000
(d) Anu T 45,000; Charu ¥ 30,000; Divya ¥ 75,000

11. Divya’s amount of guarantee is short by the following amount : 1
(a) T 75,000 (b) < 5,000
(c) T 15,000 (d < 20,000

12. Average capital employed in a firm is ¥ 1,60,000. The normal rate of
return is 15% and its average profits are ¥ 60,000. Value of goodwill by

capitalisation of average profits method is : 1
(a) < 16,40,000 (b) ¥ 4,00,000
(c) T 2,40,000 (d) < 14,40,000

13. X Ltd. forfeited 100 shares of ¥ 10 each, ¥ 8 called-up for non-payment
of allotment money of ¥ 5 per share (including premium of ¥ 2 per
share). Out of these, 70 shares were reissued to Ashok as ¥ 8 called-up,
for ¥ 10 per share. On forfeiture, ‘Share Forfeiture Account’ will be : 1

(a)  Credited by T 700
(b)  Debited by T 500
(c) Credited by ¥ 500
(d  Debited by T 200
67/3/2 ~——— Page 11 P.T.O.



14. 3Tfaa St &1 98 AW S Sut shaet Sl & faeed & 99 g e g,

HEAT &

(a) @f=a et
(b) ot g=
(c)  ITR=a Yait
(d) e gsh

15. 3Af¢ Tk FTEIER g U ffved qfst 1 3metr yees uEg o wiew # fepa e
7, a1 oI URT T AW W A < T0ET i A

(a) 7HE S fow (b) 6HE % fau
(c) 5%%%%? (d) G%mgém%m

16. 3fefa qen wie TR 9 qum y& At St T 30,000 ot | IR = B wH
3 ot i i T % T U AT TR % &7 # Wy | A s 6
T Y T 48,000 AT | a9 o YN b THI HH 1 ATH-EIH @Al T 24,000
T SHT Y GT T AT | =a o Y9 T HH hl TN T oI I

(a) ¥ 40,000
(b) T 60,000
(¢) ¥ 75,000
d T 30,000

17. (%) Tt fafies 3 T 100 I8+ & 10,000, 8% FOTTHT 1 6% o3 R fwifud
TR | Tfsr o1 e 9 SRR § ¥ o1 ¢ T 60 ITEET W aAT I
ameed W | wft ufy faferaq e & 78 |
uH T i qeaehl § ATavaeh UM TSt iy |

aterat
(@) TH ®FH 9 T 10 T3 o qUid: I1=d 4,000 31T, 9 W < 3 9k
319 I 3TMEeH TRT 1 YA foham T o, o1 g0 o T | 3 @
2,000 3791 %! qU1 Yga T18,000 T gA:Fifea = feam m |
3Th Tl % ToTu, STTawaeh TeHm=n gfafsedt i |
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14. A portion of the uncalled capital to be called only in the event of winding
up of the company is termed as : 1

(a)  Reserve Capital
(b)  Capital Reserve
(c) Uncalled Capital
(d)  Unpaid Capital

15. If a fixed amount is withdrawn by a partner at the beginning of each

month, ‘interest on drawings’ on the total amount will be calculated for : 1
(a) 7 months (b) 6 months

1 1
(c) 55 months (d) 65 months

16. Aditi and Bobby were partners with capitals of ¥ 30,000 each. They
admitted Chetan as a new partner for i share in the profits of the firm.

Chetan brought ¥ 48,000 as his capital. On Chetan’s admission, the
Profit and Loss Account of the firm showed a credit balance of T 24,000.

Value of goodwill of the firm on Chetan’s admission will be : 1
(a) ¥ 40,000
(b) < 60,000
(c) < 75,000
(d < 30,000

17. (a) M Ltd. issued 10,000, 8% Debentures of ¥ 100 each at 6%
discount. The amount was payable as ¥ 60 on application and the
balance on allotment. All money was duly received.

Pass necessary journal entries in the books of M Ltd. 3

OR

(b) A company forfeited 4,000 shares of ¥ 10 each fully called-up, on
which application money of ¥ 3 each has been paid. Out of these,
2,000 shares were reissued as fully paid up for ¥18,000.
Pass necessary journal entries for above transactions. 3

67/3/2 ~a~~ Page 13 P.T.O.



18.

19.

20.

(%) T, TF YT T09 AEIGR & QAT 2: 1 : 1 AU ° oy sied & | WA
3 gfd A8 T 3,000 991 T 3 Ufd HIE T 4,000 H1 AT fRAT |
TS W 6% MY g A ST AT 7T STafeh ATHER! Tolg e T
T o fowg ° 09 o |
3 HR Hl TR T H G 7Y, IR H g FH 7g ATTwIH FHRSH
gfafee S |

Jreran

(@) 7% QAT % ATeIGR & qAT 3 : 2 h AT H AW Sied & | 3Teh! Goit
HUS: T 50,000 AT T 30,000 off | FEHEH For@ H S W 6% dTHh
T Y I qAT 5% bl SATS & bl 9T §& I T 1,000 o IHTHH =
S W YEYH o | 1 TS, 2021 HI A 7 TS b IR H Tohdl
gaENd o foHT BH 1 T 1,00,000 =hT k0T feam | 99 2021 — 22 § 3R
A T 26,800 F |
31 HT=, 2022 ! GHH BL 9N % fau w1 aw-g fafriem @

IR T |

%, HAA AU HGl Th HH H AEER 7§ | IR wri Ot
HUS: T 5,00,000, T 10,00,000 A T 15,00,000 off | & 7o T ISt
A H AW Fied 8 | BH Y 99 31 HIE ohl T ek g Hdl & |
30 TR, 2021 I ek ! Tcg &I 5 | ATH H ek o HFT hl AT U=
feafa foaor &t fafy @ gy f fafy a6 foska & emar W &1 Sl |
a¥ 2020 — 21 1 fashd qAT @Y HEM: T 20,00,000 95T T 2,00,000 T |
1 379, 2021 & 30 farr, 2021 9 fasha T 6,00,000 T |

(i) ek % ATH % WTT <hl TUMET HIfST |
(i)  TH H ek o W o AGIehd hi AIH UsHTH=T gfafese hifsu |

o, dva qn HidT s BH H AEGR O YT 5 : 3 : 2 % 31U H Y-gIH dfed
g | 31 HE, 2022 HI G HATHIA & T | TIHATRA, ST 41 Ghad o
3nfe & gafad aff THRISHT 1 i o 99 dHG qT Hidr o Yol @i e
T 1,00,000 9T T 50,000 =h1 STHT Y <301 @ o | I8 Foiw foran man fo Qv
T Har <1 Yt ol 39eh AT ATY-fawTsH 31U § e foham S |

TR sl 5 Sl <l TUMET SHIfT T TR g SATEwTeh URT A 374aT
39! FepTe hl 3Ty UemE= gfafseat shifsu |
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18. (a) Raman, Manan and Naman were partners sharing profit in the
ratio of 2 : 1 : 1. Raman withdrew ¥ 3,000 every month and Manan

withdrew ¥ 4,000 every month. Interest on drawings @ 6% p.a.

was charged whereas the partnership deed was silent about
interest on drawings.

Showing your working clearly, pass the necessary adjustment
entry to rectify the error. 3

OR

(b) Arun and Barun were partners sharing profits in the ratio of
3 : 2. Their capitals were ¥ 50,000 and ¥ 30,000 respectively.
Partnership deed provided for interest on capital @ 6% p.a. to Arun
and Barun and quarterly salary of ¥ 1,000 to Barun. Arun had
given a loan of T 1,00,000 on 15t October, 2021 to the firm without
any agreement about interest. For the year 2021 — 22, the profits
earned were ¥ 26,800.

Prepare Profit and Loss Appropriation Account of the firm for the
year ended 315t March, 2022. 3

19. Kanak, Kamal and Kanha are partners in a firm. Their fixed capitals
were I 5,00,000, ¥ 10,00,000 and ¥ 15,00,000 respectively. They share
profits in the ratio of their fixed capitals. Firm closes its books of accounts
on 31st March every year. Kanak died on 30tR September, 2021. Kanak’s
share of profit till the date of death from the last Balance Sheet date, was
to be calculated on the basis of sales. Sales and Profit for the year
2020 — 21 were ¥ 20,00,000 and T 2,00,000 respectively. Sales from 1st
April, 2021 to 30t September, 2021 were T 6,00,000.

(i) Calculate Kanak’s share of profit.
(ii)  Pass necessary journal entry to record Kanak’s share of profit. 3

20. Sunny, Vaibhav and Mita were partners in a firm sharing profits and
losses in the ratio of 5 : 3 : 2. Sunny retired on 315t March, 2022. After
making all adjustments relating to revaluation, goodwill and
accumulated profit, etc. the capital accounts of Vaibhav and Mita showed
a credit balance of ¥ 1,00,000 and ¥ 50,000 respectively. It was decided
to adjust the capitals of Vaibhav and Mita in their new profit sharing
ratio.

Calculate the new capitals of the partners and pass necessary journal
entries for bringing in or withdrawal of the necessary amounts by the
partners. 3
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21. Ua, wfd q0 =g T@HER & qA 5:3:2 % FAJUM H Y Sled oA |
31 9™, 2022 w1 3ehT et foewor 9 gpR & o -

31 HT™, 2022 R T[N, Hid 94T <1 1 feafa feerun

fafag Ter 70,000 | S| QAT WA 3,50,000
=7 T KT 20,000 | T2ih 3,00,000
sfrafa =g 1 =0 20,000 | TTER 2,00,000
o - T WE@EE 10,000 | 1,90,000
o 4,00,000 Thg 70,000
Hid 3,00,000
g 1,00,000 | 8,00,000
9,10,000 9,10,000
TR fafyr st o 1 foreed g |

(i) oW A1 WeH TF Wik &l T 6,00,000 H o= T T | SN § &b
A H 10% A h! THA 53 |

(i)  #mfq =7g o FO F FACH 3% T 22,000 T Th HIRI oh Toham T

fT&ehT i@ g&dehi | &1 ot |

(ii)) T T T 30,000 F TRT & TH =R HT F9H 38 T 20,000 T FTAH
Tk foha |

(iv) I SFERi sl Tehg YA L feam T |

A @1 R T |
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21. Ravi, Kavi and Chand were partners sharing profits in the ratio of

5:3:2. On 315t March, 2022, their Balance Sheet was as follows :

Balance Sheet of Ravi, Kavi and Chand as on 315t March, 2022

Liabilities Am;unt Assets Am;unt
Sundry Creditors 70,000 | Land and Building 3,50,000
Chand’s Loan 20,000 | Stock 3,00,000
Mrs. Chand’s Loan 20,000 | Debtors 2,00,000
Capitals Less provision 10,000 1,90,000
Ravi 4,00,000 Cash 70,000
Kavi 3,00,000
Chand 1,00,000 | 8,00,000
9,10,000 9,10,000

The firm was dissolved on the above date.

(1) Land and Building and Stock were sold for ¥ 6,00,000. Debtors

were realised at 10% less than the book value.

(i1)  Mrs. Chand’s loan was settled by giving her a computer of ¥ 22,000

not recorded in the books.

(iii) Ravi paid off one of the creditors ¥ 20,000 in settlement of his
amount of T 30,000.

(iv) Remaining creditors were paid in cash.

Prepare Realisation Account. 4
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22,

23.

1 379, 2021 I I TS I MU T 100 T 6 90,000 THdT 330 |
fawes T 90,00,000 i 31k ST & A1 B | HUAT A 80,000 HHAT AT 6
foTe stmaed amafa fope | Tfdt &1 Yram f=1 R & o o

3ATeed W : T 30 Ifd 31w

AT W : T 40 Ifd 373

T T Y I W Y TR
1,00,000 3f=1i < fTQ 3ATele 96 Y | 20,000 3= s Y ATEGH! i & H
fem e aen stEed Uiy o U d e | el IrETd it oft v | 600 9 %
Teh VYN o YUYW qAT Il AT T A Tai foha |
HOA Afaf=m, 2013 T FIEHT 111, 9T 1 o AR ‘39 IS i Hot &
31 U, 2022 & feufy foawor # guigy | 3t & foruw ‘@rdl &A@ ft IR
T |

() o A @ TSR, SN 3:2 % T § AW died I, H 31 A, 2022

&1 feafa faawo e yeem @ o
31 HT=, 2022 h1 & AT @ At feafa fearor
. i - T
Al § T
AIeR 30,000 | S | Ushg 20,000
e IaR=eE Sy 12,000 | TR 85,000
A 99 25,000 | =T YGYE 5,000 80,000
g ik 1,30,000
*® 1,60,000 IECH] 60,000
x| 1,40,000 | 3,00,000 | BI=R 77,000
3,67,000 3,67,000
1 379, 2022 i 38 a9 H % a7 & fou 71 =1 Fefafgd st ®
Teh 1 FTEIER S <1 ol fopar

() T I gt % fT T 1,00,000 G TG h A AW fow
T 50,000 Tfd Hiftem @ |
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22. On 18t April, 2021, Prabha Ltd. was formed with an authorised capital of
T 90,00,000 divided into 90,000 equity shares of ¥ 100 each. The
company invited applications for 80,000 equity shares. The amount was
payable as follows :

On application : ¥ 30 per share
On allotment : ¥ 40 per share
On first and final call : Balance amount

Applications for 1,00,000 shares were received. Applications for 20,000
shares were rejected and the application money was refunded. All calls
were made. A shareholder holding 600 shares did not pay the first and
final call.

Present the ‘Share Capital’ in the Balance Sheet of the company as per
Schedule III, Part I of the Companies Act, 2013 as at 315* March, 2022.
Also prepare ‘Notes to Accounts’ for the same. 4

23. (a) On 315t March, 2022 the Balance Sheet of partners A and B, who
were sharing profits in the ratio of 3 : 2 was as follows :

Balance Sheet of A and B as at 315t March, 2022

A
Liabilities m;unt Assets Am;unt
Creditors 30,000 | Cash at Bank 20,000

Investment

Fluctuation Fund 12,000 | Debtors 85,000

General Reserve 25,000 Il)fjsision 5,000 80,000
Capitals : Stock 1,30,000
A 1,60,000 Investments 60,000

B 1,40,000 | 3,00,000 | Furniture 77,000
3,67,000 3,67,000

On 15t April 2022, they decided to admit C as a new partner for

% share in the profits on the following terms :

(1) C brought ¥ 1,00,000 as his Capital and ¥ 50,000 as his
share of Premium for Goodwill.
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(i) T 2,000 T Th HEH I Ja- 3G T |
(iii) 7w =1 IR JeF T 50,000 o |
(iv) U gR, fSreeh! SERT 1 $9d 0T o &9 H Ifciiad L feam
T o, 3 qu Faer § T 12,000 T A TR |
QAT QAT AT HISIGRT o Yol WTd I’ SHifT |
reran

e, Trar don i U ®H W GTSER 9 997 2 : 2 : 1 % 31U H
AY-EIH sfed 9 | 31 A, 2022 i 3k fEufa foawor 91 yor @
g7 .

31 HT™, 2022 <Rl 4T, Trar qn Hiar =t feafa foeror

. i et i
S T T
g fff qem wed 4,80,000
At 2,00,000 IEERN] 1,20,000
Tfiar 2,00,000
TR 1,50,000
LS| 1,00,000 | 5,00,000
= T= 30,000 act
’ FICRIE] 10,000 | 1,40,000
TER 5,00,000 | ¥2ih 1,20,000
S H Uhs 1,70,000
10,30,000 10,30,000

39 Ay ki, AT BH § HaTHgd &l 75 991 AT PG - HadT

S T #1 faofe feen | ufemafaat & gaedmeR qen cEarett %

Eﬁﬁﬂﬁﬂﬁﬁﬁﬂ%ﬂﬁgﬁ:

(i)  ®H i TN B e T 3,00,000 FRaT TR |

(i)  qff 91 wed B T 1,23,000 FEHET AW |

(i) §F@ FT T 20,000 ¥ | ERI W Ff@Y =0T & T 10% H1
TG AT AT |
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(b)

(ii1)  One month salary ¥ 2,000 was outstanding.
(i11) The market value of investments was ¥ 50,000.

(iv) A debtor, whose dues were written off as bad debts, paid
T 12,000 in full settlement.

Prepare Revaluation Account and Partners’ Capital Accounts. 6

OR

Anita, Geeta and Sita were partners in a firm sharing profits
and losses in the ratio of 2 : 2 : 1. Their Balance Sheet as at
315t March, 2022 was as follow :
Balance Sheet of Anita, Geeta and Sita as at 315t March, 2022

A t A t
Liabilities m;un Assets m;un
Capitals : Land and Building 4,80,000
Anita 2,00,000 Investments 1,20,000

Geeta 2,00,000

D 1
Sita 1,00,000 | 500,000 | DePtors 150,000

General Reserve 30,000 ;:(S)\S/ision 10,000 | 1,40,000
Creditors 5,00,000 | Stock 1,20,000
Cash at Bank 1,70,000

10,30,000 10,30,000

On the above date, Anita retired from the firm and the remaining
partners decided to carry on the business. It was agreed to revalue

the assets and reassess the liabilities as follows :

(1) Goodwill of the firm was valued at ¥ 3,00,000.
(ii)) Land and Building was to be appreciated by < 1,23,000.
(iii) Bad debts amounted to ¥ 20,000. A provision for doubtful

debts was to be maintained at 10% on debtors.
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(iv) @l sl = g T 80,000 T GLd YTAH HL feam = | 39
T 1 FEaator 38 ®O @id ¥ K T mn Rmept e @
S 1N fhedi H 10% AT T & ST Ffgd fohaT SITQ |

AT & HATHET B T IR @Il a2 FTEGRI o Yol @Td dIR
hINTT |

24, qUI, AR qAT KMOHI TH BH H HEGR U qAT 2 : 2 : 1 h AJIC H
ATY-BTH sfed & | 31 9T, 2022 1 39eh1 ferfa faewor e yepm & ot

31 WT, 2022 i T, SFTIT qAT FHfvent ot feurfa feeror

qSi I3 Ug /R 5,00,000
qu 3,00,000 ik 1,00,000
SN 2,00,000
EQtEY 1,00,000 |  6,00,000 R 00,000
qH= 999 50,000 | Sish T Uhs 40,000
TG 50,000
7,00,000 7,00,000

31 TS, 2022 I T hl Jog & T8 | HIEEH] i@ o THR Tdesh HT3GR

fasuTeeh 1 & ghe 9 ;

(i) ETER % Yt @1d § 99 |

(i) T 15,000 3HTE I |

(i) Eafd § 9w gt T fUse JF awt % ofted @i % 9 T %
ATYR T <hT AT |

(iv) oo o@mRd ay 6t gare | 9og i foafy 9o @i § Wi feshl 1o
o 9 & @Y & YR W h @R | 2019 — 20, 2020 — 21 G
2021 — 22 % &9 $HA: T 1,00,000, T 2,00,000 99T T 1,50,000 & |
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(iv)

Anita was paid ¥ 80,000 immediately by cheque. The

balance amount was transferred to her loan account which

was to be paid in two equal annual instalments along with
interest @ 10% p.a.

Prepare Revaluation Account and Partners’ Capital Accounts on

Anita’s retirement.

24. Trisha, Anisha and Rishika were partners in a firm sharing profits and
losses in the ratio of 2 : 2 : 1. Their Balance Sheet as at 315t March, 2022
was as follows :

Balance Sheet of Trisha, Anisha and Rishika as at 315t March, 2022
A t A t
Liabilities T | Assets e
Capitals : Plant and Machinery 5,00,000
Trisha 3,00,000 Stock 1,00,000
Anisha 2,00,000
Debt 60,000
Rishika  1,00,000 | 6,00,000 | ’
General Reserve 50,000 Cash at Bank 40,000
Creditors 50,000
7,00,000 7,00,000
Trisha died on 315t July, 2022. According to the partnership deed, the
executors of the deceased partner were entitled to :
(1) Balance in partner’s capital account.
(ii)) Salary @ ¥ 15,000 per quarter.
(iii)  Share of goodwill calculated on the basis of twice the average of past
three year’s profits.
(iv) Share of profits from the closure of the last accounting year
till the date of death on the basis of last year’s profit. Profit for
2019 — 20, 2020 — 21 and 2021 - 22 were ¥ 1,00,000, ¥ 2,00,000
and T 1,50,000 respectively.
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(v)

qUT A 1, 2022 i 7 KT TN & 7T T 20,000 I &
fopam |

39 PR hl TN G §Y I8eh [SATGh! hl T&qd i ad qUT 1 ISt
ECI] aQ|IEﬁ“éQ;|

25.
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()

g fafds 9 T 10 T% % 80,000 HHAT ATM I T 4 Ifd I &
fiftrm w it 0 & foiw seea smwf=a fohe | afsr &1 ymam f=
EEFFI@T%E‘QT:

JAMEEH W — T 5 Tid W

AW W — T 9 Ui 1w (Hiftem wfza)
1,40,000 311 % Y 3TEGH WTH Y q1 Gl SAeIGh I ATITAH
YR W e L [T AT | 3ATAET W I ARk TR 1 FHRISH
e W oF U d o forn mn | wefle, ™99 1,400 30 & o
A TR o, 3TTees TR &1 P i T STAhA &1 | 3ok 3730 ol
BT L o o | g ®, $9 g fohw T ot bt < 9 Wi o7 qui ved
g o foam |
3T el o fau dred fdafids i geashl H Tawdeh U
glersat shifr |

T

[ fafids 9 T 10 I% & 2,40,000 THAT 7901 I T 4 fd 37
fiftrm @ frifia 0 & foiw see smwf=a fohe | afsr &1 ymam f=
YhR T T AT :

e W — T 4 gfd 3191 (T 2 Hiftem afza)

e W — T 4 Tl 39

oW Ug iy AT W — T 6 Ifd 19 (T 2 Hifim wfga)
3,00,000 3 % fAIQ 3AegT YH gT qo |t HATAGeR! Hl AT
YR W 330 1 A& HL TG T | e T A NS STeIEH
[T o1 AR 3o T oF URT | & foram | @l ufsr fafereq
ITH B TS, UfeT ol Bigeht ™E- 7,500 3730 o fow straed fepam or qen
St SATEeH AT YW T AfqH A= 1 PTAH i T 310%d @ |
ST el o T Sffod foafies i g&aehi H SAEwaeh U
gfefsat hifsre | STel ATaw=e 81, 3Ted Ir=-T il aAn 1Y J=ET G
Qifery |
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(v)  Trisha withdrew ¥ 20,000 on 15t May, 2022 for her personal use.
Showing your working clearly, prepare Trisha’s Capital Account to be

rendered to her executors. 6

25. (a) Lotus Ltd. invited applications for issuing 80,000 equity shares of
% 10 each at a premium of ¥ 4 per share. The amount was payable

as follows :
On application — < 5 per share and
On allotment - < 9 per share (included premium).

Applications were received for 1,40,000 shares and allotment was
made to all applicants on pro-rata basis. Money overpaid on
applications was adjusted towards sums due on allotment. Rajiv,
who had applied for 1,400 shares, failed to pay the allotment
money. His shares were forfeited. Later on, these forfeited shares
were reissued at T 9 per share as fully paid up.

Pass necessary journal entries for the above transactions in the
books of Lotus Ltd. 6

OR

(b)  Tulip Ltd. invited applications for issuing 2,40,000 equity shares of
T 10 each at a premium of ¥ 4 per share. The amount was payable
as under :

On application — < 4 per share (including premium ¥ 2)

On allotment - < 4 per share

On first and final call — ¥ 6 per share (including premium < 2)
Applications for 3,00,000 shares were received and pro-rata
allotment was made to all the applicants. Excess application
money received with applications was adjusted towards sums due
on allotment. All moneys were duly received except from Rohini
who had applied for 7,500 shares, and failed to pay allotment and
first and final call.
Pass the necessary journal entries for the above transactions in the
books of Tulip Ltd. Open Calls-in-arrears and Calls-in-advance
account, wherever necessary. 6
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26. (%) 1 30, 2021 ! T W fafies 9 T 50 &k & T 45,00,000, 12%
OIS Rl AT 10% &g W foham | 81 7T, 2022 i 364 Rode e
g HI HuAl I, 2013 & IEYHET & ITER Ufeilgd s @
ot
foram | sEek wlavfa ifiem ¥= @1d’ & ST H T 1,75,000 1 99 o7 |
ST oHeAl @ fou Suft i qEaeel ° 3tevEes UsHmen glafseat

HIfT |

(@) 1 31U, 2022 * & I s 7 W@ w fifies it T 50,00,000 6
e 991 T 10,00,000 <hl SIAIST 1 ARWET T 40,00,000
T qod W fha1 | T ™ fAfies 1 T 20,00,000 FH1 FIAH T 100
TA% b 12% FUGA hl 25% Wiftem w frifm e fem
T 15,00,000 1 YA TH U fAfes & 9 O UH {@ifhd 9 i
frifia e fopam ™ | 9 & U & R fdfies 9w w fafues g
3 W fo@ T T fafwg 93 @1 wied weh fhar, S A AR 9w

I o |
FUA I gl B I oHedl & fau srmavas UeHmEn gfafsext
HIfTT | 3+3=6
IR KC)
oo - 1
(Torfrar TerawoTt w1 farverwor)

27. fmAfaRea @ & SF-8 oFcHl *1 9T Tehe TG Uhe Jed H1 JA<qdig gl 1
(a) T 80,000 shl ANTG T HH=R T 75,000 H &= T
(b) T 5,00,000 % =G AT T FHIwA
(©) T 15,000 % SATATREH oF 1 YIAH

(d) Tl gfEmfE W T 11,000 1 Jeas™ YeH foham m
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26. (a)

(b)

On 15t April, 2021, LM Ltd. issued ¥ 45,00,000, 12% Debentures of
T 50 each at a discount of 10%. On 315t March, 2022 it decided to
write off discount on issue of debentures according to the
provisions of the Companies Act, 2013. It had a credit balance of

T 1,75,000 in its ‘Securities Premium Reserve Account’.

Pass necessary journal entries for the above transaction in the

books of the company.

On 15t April, 2022, KR Ltd. acquired assets of ¥ 50,00,000 from
SM Ltd. and took over liabilities of ¥ 10,00,000 for a purchase
consideration of ¥ 40,00,000. T 20,00,000 were paid to SM Ltd. by
issuing 12% Debentures of ¥ 100 each at a premium of 25%,
T 15,00,000 were paid by issuing a crossed cheque in favour of SM
Ltd. For the balance, KR Ltd. accepted a Bill of Exchange drawn
upon them by SM Ltd. payable after three months.

Pass necessary journal entries for the above transactions in the

books of the company. 3+3=6

PART B
OPTION -1

(Analysis of Financial Statements)

27. Which of the following transactions would result in inflow of cash and

617/3/2

cash equivalents :

(a)
(b)
(c)
(d)

Furniture costing ¥ 80,000 sold for ¥ 75,000
Issue of bonus shares ¥ 5,00,000
Payment to trade payables ¥ 15,000

Provided depreciation on fixed assets ¥ 11,000
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28. (i) fTr=ffega & @ wF-a1 @rvvear s 787 ®
(a)  Hohel oMW AHUTd

(b) FEe w g

(c) EdTiHca 31U

(d) I ITTUT

AAAT

Gi) T=fafea & @ sH-a1 Toaxdia faawn &1 faveror w1 w a@eE |
(a) Uehg yaTg foemm
(b)  rH-gTH ferewor
c) Teufq foawon
d (a) T (b) I

29. fmafaRaa ¥ @ eF-a1 o oy wfafafert @ tere yarg @ wefua 757 2
(a) ¥ 25,000 i ToquE-A Sfaqfai 1
(b) ¥ 2,80,000 T fff =1 fasha
(¢) ¥ 3,00,000 % fafr=m =1 fosha
(d ¥ 1,00,000 % TIF HT HY

30. (i) U HEUAl I KU-EHAT UM 2 : 1 7 | Frafafed & @ eF-wn w9
SRUT-HHAT AU ! TGITT ?

(a) ¥ 1,00,000 % 3730 1 fimA

(b) T 4,00,000, 9% FOTIAT T TFTHA
(c) ¥ 3,00,000 % -G 370 T e
(d) T 50,000 % AHGRI HI WIAH

AT
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28. (1)

(i1)

Which of the following is not a ‘Profitability Ratio’ :
(a)  Gross Profit Ratio
(b)  Return on Investment
(c) Proprietary Ratio
(d)  Operating Ratio
OR

Which of the following is a tool of ‘Analysis of Financial

Statements’ : 1
(a)  Cash Flow Statement

(b)  Statement of Profit and Loss
(c) Balance Sheet

(d)  Both (a) and (b)

29. Which of the following transactions is not related to cash flows from

investing activities :

(a)
(b)
(c)
(d)

30. (@)

617/3/2

Purchase of marketable securities ¥ 25,000
Sale of land ¥ 2,80,000

Sale of investments ¥ 3,00,000

Purchase of equipment ¥ 1,00,000

The Debt-Equity Ratio of a company is 2 : 1. Which of the following

transactions will increase the Debt-Equity Ratio : 1

(a)  Issue of shares ¥ 1,00,000

(b)  Issue of 9% debentures T 4,00,000

(c) Issue of bonus shares T 3,00,000

(d) Payment of creditors ¥ 50,000
OR
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31.

32.

33.
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(i) 81 W=, 2022 ! GHH FC I H gl fafids 3 =< @ W ¥ @
< 15,00,000 FT g 9 ARG fFa1 | HE H T 50,00,000 FT TH
10% ErEehTetE RO o1 | T & 40% & | HFOH] 1 SIS STERU IIITd

2

(a) 27T
(b) 37T
() 127
(d 157

Hut JrfafEg, 2013 i T 111, 9T 1 o AR Heot i f=fifaa Aai
w1 feurfa faawor o g sfiveni aur 3u-sfiveni (Ifg #I5 8) W 3T=<wia afishd
Hifu

(i) Y8R 3 I

i) S ABm
(i) 3Acd =Y

T8 Teh dehieh & T STl deel & IS & 3fihel Sl G- Tght
aftufera g 1
qohe1eh hl U HITT TUT ITYH | UgAHT TS deheileh o fohral G ATl ol
3T HIWT |

() Tr=fciiad g=m1 9 Fhal @Y 3TUTA i TTUMT HITT

3Ea sl (W) T 1,60,000; o=l 3ATad 3@ 8 THT; 3ited
M T T 2,00,000; SAMNG I 3T I 6 AT AT TG
forsha et Torshd =T 25% |

AAqT

(@) fmAfIRea =1 9 SRR YSi AEd 3TdTd i T0ET ST
ot eft T 1,00,000
T qiEmf T 80,000

YTl 8 3T ANTd Z 3,20,000
Tehel 1Y TUTd 20%
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31.

32.

33.
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(ii)  During the year ended 315t March, 2022, Shradha Ltd. earned net
profit of ¥ 15,00,000 before interest and tax. The company has a
10% long term debt of ¥ 50,00,000. The tax rate is 40%. The
Interest Coverage Ratio of the company will be :
(a) 2 times
(b) 3 times
(c) 1-2 times
(d  1'5 times

Classify the following items under major heads and sub-heads (if any) in
the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 :

(1) Stores and Spares

(ii))  Capital Advances

(iii) Outstanding Expenses

‘It is a technique which involves regrouping of data by application of
arithmetical relationships.’

Identify the technique and state any two advantages of the technique
identified above.

(a)  Calculate Gross Profit Ratio from the following information :

Average Inventory ¥ 1,60,000; Inventory Turnover Ratio 8 times,
Average Trade Receivables ¥ 2,00,000; Trade Receivables
Turnover Ratio 6 times and Cash Sales 25% of Total Sales.

OR

(b)  From the following information, calculate Working Capital
Turnover Ratio :

Capital Employed < 1,00,000
Non-Current Assets < 80,000
Cost of Revenue from Operations < 3,20,000
Gross Profit Ratio 20%
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34.

=T Spiculer e &1 4fgu a9n 39 YR | 2y 1Y 997 &1 I ST

Th-gAsfear fimm § If@ g oee A ‘e fafie @t % &9 A
2016 H ©: 3 Jddehl o HIY AT Teh 91 HGH™ A fopam | e
AR 3T=BT ANH 3T L W&l 8 | 31 7T, 2022 i 3TTee fdfies &t foxfia

=afa f=1 g ot -
31 W=, 2022 =kt 3ATATE ferfires =t fefa faawon
P e | 31.3.2022 | 31.3.2021
g. T T
I - |HAT dAT IATU :
1.  swiare fAfeat
(%) o= Sl 19,00,000 | 17,00,000
(@) w=F wd AT 1 6,00,000 |  3,00,000
2. AT IFAT@
R 3R 2 5,00,000 | 4,00,000
3.  =Te] gFaTd
(k) TR IUN 3 1,70,000 | 1,75,000
(@) TR Tad™ 4 2,00,000 | 1,65,000
E3 33,70,000 | 27,40,000
II - ufEraf~=
1. orue yiEwtEt
(%) wrh afeftat
(i) I aiEe =t 5 24,00,000 | 19,00,000
(i) 3t ufrrafo 6 4,00,000 | 3,00,000
(@) o=« few 1,00,000 |  2,00,000
9. =Tl ufEratat
(%) = faw 1,40,000 | 1,70,000
(@) wih (HTeTE=) 2,60,000 | 1,30,000
()  Uehg TF kg G 70,000 40,000
S 33,70,000 | 27,40,000
~~—~
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34. Read the following hypothetical text and answer the given question on
this basis :
Azad, inspired by ‘Make-in-India’ mission, initiated his start-up in the
form of a company ‘Azad Ltd.” along with six other promoters in 2016.
The company has been earning good revenue consistently. The financial
position of Azad Ltd. as at 315t March, 2022 was as follows :
Balance Sheet of Azad Ltd. as at 315t March, 2022
Particulars Note | 31.3.2022 | 31.3.2021
No. 3 4
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 19,00,000 | 17,00,000
(b) Reserves and Surplus 1 6,00,000 3,00,000
2. Non-Current Liabilities
Long-term Borrowings 2 5,00,000 4,00,000
3. Current Liabilities
(a) Short-term Borrowings 1,70,000 1,75,000
(b) Short-term Provisions 4 2,00,000 1,65,000
Total 33,70,000 | 27,40,000
IT - Assets :
1. Non-Current Assets
(a) Fixed Assets
(i) Tangible Assets 5 24,00,000 | 19,00,000
(ii) Intangible Assets 6 4,00,000 3,00,000
(b) Non-current Investments 1,00,000 2,00,000
2. Current Assets
(a) Current Investments 1,40,000 1,70,000
(b) Inventories 2,60,000 1,30,000
(c) Cash and Cash
Equivalents 70,000 40,000
Total 33,70,000 | 27,40,000
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Notes to Accounts :

Note 31.3.2022 | 31.3.2021
No. > >
(1) Reserves and Surplus 6,00,000 3,00,000

(Surplus i.e. Balance in Statement

of Profit and Loss)
(2) Long-term Borrowings

12% Debentures 5,00,000 4,00,000
(3) Short-term Borrowings

Bank Overdraft 1,70,000 1,75,000
(4) Short-term Provisions

Provision for Tax 2,00,000 1,65,000
(5) Tangible Assets

Machinery 26,00,000 | 20,00,000

Less Accumulated Depreciation (2,00,000) | (1,00,000)

24,00,000 | 19,00,000

(6) Intangible Assets

Goodwill 4,00,000 3,00,000

Additional Information :

(1) T 1,00,000, 12% Debentures were issued on 15t April, 2021.

(ii)) A piece of machinery costing ¥ 80,000 on which accumulated

depreciation was ¥ 40,000, was sold at a gain of ¥ 10,000.

Calculate cash flows from ‘Investing Activities’ and ‘Financing Activities’. 6
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PART B
OPTION -11
(Computerised Accounting)

27. (1) Absence of data items is represented by one of the special values
from the following i.e. :

(a)  Single value
(b)  Stored value
(¢)  Multi value
(d)  Null value

OR

(i1))  The process of comparing input data with some unknown data is
called : 1

(a)  Storage data

(b)  Information data
(c) Data entry

(d) Data validation

28. Which of the following chart element details the data values and
categories below the chart : 1

(a) Data labels
(b) Data tables
(c) Data point

(d) Data markers

29. () From the following a legend can be repositioned on a chart : 1
(a)  On the corner only
(b)  Anywhere
(c) On right-side only
(d)  On the bottom of x-axis

OR
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(ii)) Which of the following are the five pillars of computerised

accounting system :

(a) Data, Report, Ledger, Hardware, Software

(b)  Data, People, Procedure, Hardware, Software

(c) People, Procedure, Ledger, Data, Chart of Accounts
(d) Data, Coding, Procedure, Rules, Output

From the following, identify the Accounting information sub-system for
obtaining information about cost and expenses :

(a)  Costing sub-system
(b)  Cash and bank sub-system
(c) Expense accounting sub-system

(d)  Final accounts sub-system

Explain the following two features of Computerised Accounting System :
(1) Simple and integrated

(ii)  Accuracy and speed

Differentiate between ‘Generic software’ and ‘Specific software’ on any
three bases.

Define ‘Charts’ and ‘Graphs’. Give their any two uses for business.
OR

Which error appears when a negative date or time is used ? How can you
correct it ?

Name the financial function which returns accrued interest on a bond
with 5% coupon rate and where issue and settlement date of investment
is also given. Also explain its syntax.
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